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����� ����  �����	1  
4�  

i 0° 20°  30°  48°  90°  
r'  0°  20°  30°  48°  90°  
r  0°  12,5°  18°  40°  39°  

C �	 ���%�� ����-�� l = 39° 

5�  

2C 70°5   (C 39°�   (C 39° (70°  

T	C� &��'��� ������ &��'�� ������ 3��-���� -����  

6� °32� 57°  

8���� ��#��=� ���"�� 3������ !����#�� :  

i5°  10°  15°  20°  25°  25°  
r 3,33° 6,65° 9,94°13,18° 16,36° 19 ,47° 

C!����#��   �?=���i = n.r 

i 5°  10°  15°  20°  25° 25°  
r  3,33°6,66° 10°  13,33° 16,66° 20°  

C �� �%�%B �?=��� �
	 ����� !������ <17�� ���%)-����� �10’ ( ����- ���� ��#����
 ������°5(° 10 ( °151��  .  

9� n =1,342 

10� n = 1,53 

12� A = 41,5°  

13� io = 21,27° (D = 61,27° 

14�   

5C 32 ��� °A < 82,3 6�% (°2l = 82,3 �l -���$� !�;� 1�'�� 3N�(���%�� ����-�� �	 
,�%�.  

T�C ��? F2�� i� 3�  �����13,5° ���? ���; (io ���%�� �
	 �� ). 3������ �
��13.(  
�C5�#%���� 3����� 3�  Dm = 30°)  3���D = Dm ����4 i = i’(.  

  

 :����� �	
���  

������� ����	�� 
��
  



��%��� 3����� !�$%2  

 1�T� 5�����   :( (I���� !�1� �2 ����� 3�$� ,$��� ��'���� ���� ��#��� ����? 3G
��'G !� 3N� (��$�7� ����2 !��12 F�
 F�4��'G 3� 5��� ��� ���;� ����� 32 ���� &

���;� �����  ���� 6�%� �
� (��$�7� ����-� K�%��.  
�
%=�  :2 5����� (K�� ��@ 3�� A�%B.  

2� 2  ( 1#��� �
	 �� I�4�#� ��B;� &��'_� ��#���� �"��� ��#��� ����? 3�� �?=��� �����
�	

  

=   v/c ��	�n  /
���nI��� (          :
  

 
���n   v=c/ (c=3,000.108m/s 

,��1�)��4  :1,3506= 
��� n ( =1,0000
  ��	� n  .m/s        v=3.108/1,3506 =  2,22.108

 

5 (������ �� ����� ��'��� I?�/�#� )
�� 3�-�� : (����" 1#��� ��� �� ����� �4�#
I��� :   t=d/c ; t= 20.10-2/3.108 = 6,67.10-10s            

� (;� �� ����� ��'��� I?�/�#� )
�� 3�-�� �"�)X�#�� ��� (�	 :  
t’= d/v = 20.10-2/2,22.108 =  9,01.10-10s 

C3������� 3�� ��������  : 

  

3�2   ( ��#����� L�G ��%;� 3� &��'G !� K�%�� 6�%� (���;� ����� ���� 6�%�
 ���-�� K��%��� 

  DR < DO < … < DVi3;  n R<nO<…<nVi 

5 (��%;� &��'M� K��%�� 5�#%:  

 ,�1����"��� !�;� 3������ ��4 ���"�� ��#���� 3���?:  

   �!�;� I���� ��4 :  sini=nRsinr ;      sinr=sini/nR         
       F.& :sinr=sin50/1,6= 0,4877 ;      r=28,6°    

����� :r’=A-r= 60-28,6=31,39° ;     r’≈31,4° 

C���"�� I���� ��4 : = sini’'     nRsinr  

F.& :.1,6.sin31,4=sini’=0,8336 ;        i’=56,46°  

 C ��%;� &��'M� K��%�� ����-:  
DR = i + i’- A ;   DR = 50+56,46-60 = 46,45°  DR = 46,45°              

C��#����� &��'M� K��%�� 5�#%  :��� (����#�� F��17�� ��� &�����:  
 r=27,12° ;               r’=32,87° ;                i’=65,76° ;               DVi=55,76°  

 *��
�� : ���� ����
�� ���� �������� 	� �������� �	��� !� �"�#�� �$�%� �&���� �%	�'�� �%�
� (�) +%����� ,��%

 ,%��� �%����� ������ �#��sin-1.  

d/v 

d/c t’/t=  = c/v=3.108/2,22.108=1,35  


���	 ���� ����	� ����	 ����	



4� 1(���/B2 K��%��� 3��� ����4 ������ ����- 5�#% : 

��? 3�      ����� (���"�� ��#���� 3� :sini = nsinr ;       nsinr’=sini’ 

C��%��� ��4 K����� ,�%�� )�/B;� :  
r=r’=A/2 ;          i=i’ ;          Dm= i-r+i’-r’ = 2i-(r+r’) = 2i-A ;                                    

 
I���:  

    
       

 
  
  
F.&:.   

n=1,66  Dm=52,8° ;   λ=589nm ; A=60° 

2(  °                                 ,456=   i           

3( K��%��� ����- 5�#% D1 ������ !�1 )
 &��'=� λ1:  

C��'���� F�?=4 3�  :D=(i-r) + (i’-r’) = i+i’ – (r+r’) = i+i’-A 

C I���� ��4(��#��=� ���"�� 3������ 3� AB: 

    sini = n1sinr1     )2  

F.&:  
   n1 = 1,69 ;    sinr1 = 0,4928 ;     r1 = 

29,53°       r1’= A-r1 ;  r1’= 30,47°          

C I���� ��4 BC: sini’=n1sinr1’  

 F.&  :  
       = 52,8+58,98-60 = 51,78° = 58,98 ;     D1 =0,857 ;       i1’         sini’  

C K��%��� ����- 5#%� ����1�� ���� D2 ������ !�1 )
 &��'_� λ2���� (: 

                       r2=30,32° ;       r2’=29,69° ;      D2=51,19°  

5C1(  ��'���� ��#��� ����? 5�#%:  
D=i1+i’-A ;     i’=D-i1+A                                               

F.&:.  
 i1=48°   D=36° ;  A=60°     I��� (    i’=48° 

i1=i’        I���   A/2=30°       r=r’= 

��#���� 3���? 3�:;  n=sin(i1)/sin(r)            sini1=nsinr 

F.& :.,481≈n                                                                                                                

2(*���� &��'�� ����� L�%  I���� ��4 �AC)I���� �
	 3� &��'�� -��� =�( 32 5�� (
 I���� L$4 ��#��� &��'�� 3���AC)2 ( :i’=90°I��� (:  

i i’ 
Dm 

A 

B C 

r r’ 

Dm+A
2

i = 

  sin Dm+A 
  

 sin  A/2 

A 

i i1’

Dλ1 

B C 
r1  

Dλ2 

sini 
n1  sinr1 = 

A 

B C 

i1 

sin Dm+A = n.sin A/2 
2

n= 
2 



sin90=nsinr’ ;  sinr’=1/n              F ( .& :r’=42,3° 

r=A-r’                                             F .&      :r=17,7° 

 I���� ��4 ��#���� 3���?AB :sini1=nsinrF       .&     :.i1=26,7°    

6C I���� !�1 )
�� 3�$�� ��%� ����� λ=450µm�*���� !���$� ����� ]400µm-

800µm[���#��� ���� 9�� �'�'�� L$4 I1��#G ��4 (.  

7� λ=6µm L�G ����� ��	� (����� �
	 3� ���B�� &��'M� ���� !�1 !"�� !�1�� �
	 
G ��� (�*���� !����� �*�� ��@ &��')����#�� ��';� 3� .(  

8� ���� 3�$�� ���%� F�4��'G�2 ����� F����� L�G I$�$%� 3��� (5��� ��� ��'�� ��� 
���'�� �2 ��'���� !"� ���$� ���� -���� ���� K�<��.  

C����%�� F%� ��'2 ��'�� ��B�  (IR) L$4 �	��"<� !=7 3� X�
 3� ��<��� 3���� (
����%$� !���#� ��� ��'� ���� ����%�� �2 ���%��� !"� )��$�� �#�%.(  

C���#��� ,�� ��'2 ��'�� ��B�  (UV) �#�#%�� H���;� ��� L$4 �"0� ��'2 �	� (
����#� I� 6�%� )
�� 3�#�M� �$� ��##%�� ��� (�����@������.  

9���%2 X$#�� 3�� 3��� ����4 ��B� �*������� )���%�� D'��� !/�'� ����4 .  
C 3� ����%�� F%� ��';� L�G ����M�� �*���� !����� 3� ����%�� F�4��'M� D'�� 

�*���$� ����%�� ��B� �	� �*���� ��@ !����� .  

10�����%�� F%� �2 �����%�� ��';� �	 �-��;� �
	 ��##%�� ���� ��';�   )IR(. 

C��� ��';� 3� ����%� ��� (��^� ,�� ��� I� )���� K=/��  ,�� ��';� !"� ���
���� ��	 �-� V�B���� 3�-�;� -�@ ���� 6�% (���#����� .  

11� -��$��� -��� �� ��� 34 ��%�$� ��7�#��� &��'M� 3G )���������� �-��;� 3� ��"��  (
 ����%�� F%� F�4��'M� 3�)������ ����%�� F%� !����� �� )���%� &��'G �	� .(

; ��*�� ��@ ��'2 �	� 3� ���2 ������ !�1 3800 nm) �*���� ��@ !����� ��.(  
C K��' �78� ������ &��'M� 3� &���� �
�� ����4 ��#�;� ��� 32 ��� 5������� 

I�.  

12�103 = 10600nm× λ = 10,6µm = 10,6  
C 3� ���2 &��'M� �
	 ���� !�1 32 
%=� 800nm)��%;� &��'M� ( L�G ����� �	�

 ��';� !�������%�� F%�.  
  
13�   

  
  
  
  
  

�
&��� UV  �
&���'(
���  �
&���IR �
��"� �&�� ��) 

×   230nm 

 ×  0,650µm  = 650nm 

  × 9.10
-7

m = 900nm 

 ×  430.10
-9

m = 430nm 

×   5,8.10
-8

m = 58nm 



  
3����� ��� !�$% :��%���3  

1�F������� !���2 :  
C =B�� ���1  C ����% ���� C 1�17 K�1 C �-Z��� C ����# C V��� C�	���BG  

2� 3; (���;� ���$� !B���� K�1�� �	 �*������� ����� �� I�$4 !B%���� K�1�� 
�G !�%�� � 3��������7� L) ��1��� ���1 �1�� )
�� -�/�� ���%.(  

3� ���;� 3� ��/�� I��� 3N� (����#�� K'�� ��� ���1G ��4 )������� ����M�( ������ L�G
)���1���(�$�� ��/��� (3 32 L�G ������ ��%;� L�G ��%;� L�G ��������� ��%;� 3� ����� 

����� b�1��.  
C��/� 3� !��#� ���1��� !=7  ���0��� F�4��'_� D��#� ������ ����7� 3� 3�$�� 

K�1�� 3���<� ����� ��%;� L�G ��#����� 3� ���;� ���$�.  

����	�� 
���
�



4�    

C K��1� L�G ���%� H��B�� 3� ���B�� ����� K�1 ������ )���' �2 ��'��.(  

C5������ 117� : 

 

 
 

 

 
 
  
 

C H��B��� ��� K�1 !���#� (,��#�� 5������ ,��%� ��4   ���� D�� ��4� (�'�'�� L$4
 )
�� H��B��� P	�� �� ��/� 
%=� ������� ������ ����� �*=� ���/�� ��7;� �
	 ����%

��������� ��%;� 3� F�4��'M� ������� ��B� 6�%� (!B���� K�1�� �� ��/� I������ 
�-;�� ��7;�� ��B;��,��#������ �$�����  .0��� F�4��'M� ������ 5#%� ���$� ���

 ����4 ����2 ��B� L�% ��B;�� (��������� ��%;�� (��%;� 3� ��/�� ����� 3�� 3N�
������ K�1�� F�4��'G !� 3���.  

C �����#�� 
*��4 
%=�� (��7�� ������� �*������� ������ ��' 3N� ������ ���7� ��4 
,�# ��� �#������ .��� 3� F�4��'_� ������ ����7� 6�%� )2 
%=�� ��%;� L�G ��#��

B?����H��B��� ����G ��'� ������� .  

5�   

CI� ������� ����M� �1�� )
�� ������ )2 I$�4 ����� 9
/� H��B���  . K�1 L$4 !B%��
��*���� F�4��'M� 5$@2 ���� L$4 !��� !B�� ���BG.  

C
�� F?��� �� H��B��� P	�� �� V?��� 
%=� ������ ���? ���7� ��4  K�1 I�� ��/�� )
�	��B� ���� F�4��'M� V?��� ������ ���B� )
�� �����) .,��#�� 3������ �
�2.(  

CH��B��� X$# -���� )
�� ������ ��' V?��� L�G )�0� ������ V?��� .  

C V?��� L�G )�0� ������ ��' V?���� (�-���� )
�� ������ ��'� ,$��� X$#�� ����% ���� 
X$#�� ����% ����K�1�� �������� .  

6� � :V�B��� K�1  � :!B�� ���BG K�1  � :1�17�� ���BG K�1   

7� λ1=589,5nm ;  λ2=580,0nm . 3������� ��	� (�����B�� K�1 �17 ��	 3�17�� 3�
	
��B2 ������� ��� . ����� !$%� 3��� ����4 3�17�� 3�
	 
%=�)K��1��� ( ��� (,�?�

 �17 
%=� ������� F��%����������� �%��.  
CK�1�� !�"��  :  

  
  

/��0��� 
 1� 2� '��

���) 3� 

 �%�
�� ����
4	5�� 

 ���6��7 ����
8%#�� 



8� ���;� ����� ����N� �����B�� V�B��� K�1 ,�%� )=B�� ���1 ��%�� �1��( L$4 (
 �����B�� �B�4 L$4 )��%� ����Na) ����' �2 F��
 ���%�( ��$� !�$%� !"� (

�����B��)Na++Cl-) (�
�2 �������11�'��� (4V�B���� K��12 (.(  
 �2 F��
 V���  I� 3�-�Z���� 3�4��'M� �����B�� ����') H��B� ��	��B� )
��

�����B�� ( D���$� ���;� ��������BG K�1� ����#� ���$7� V�B���� K�1 ������
3�4��'�� I�� V����=589,5nm λ1=580,0nm ; λ2 3����4 3�17 !�' L$4 () �
�2

,��#�� 3������(����BG K�1� ����# ���B� ��
�� (.   
   
  

9�   
 ��	��� �	#  

 9�nm 
407,7  435,8  491,6  496  546,1  577  579,1  623,4  690,7  

!	���  ���;�� ��%�  �5<�  �5<�  �5<�  �;0�  �;0�  ���6���  ��
�  

  
C�������� 5������ 117�   
  

  

  

  

  

C3����%�� �� &������ !�$%� V�B��� K�1 :  

2 ( ���;� ����� ����)!�'���(  
  
  
5 (*-�� H��B� ��� ����,� 

) !�'���(  
  

10�  

1(3��������� H��B� K�1 :  

2( ����� ��� 3��������� H��B� ��� K�1 
 !� V�B���� A'���� ���� (��%2 A'���

F�4��'M� ��4�� �-���� ���� F�4��'M� 
 I���� !�1 )
�� &��'M� ����� X�
� A�#�� (��%;� �����λ4=656nm.   

  

/��0��� 
 1� 2� '��

���) 3� 

 �%�
�� ����
4	5��  ���6��7 ����

8%#�� 

λ(nm) 410 434 486 656 

λ(nm)    656 

�

435,8 491,6 

496 

546 

�

420nm 560nm 



11����$��� H��B� ��� K�1   

C%=� 	 ��B;� &��'M� 32 
� ����G ��' �"�;� )90%(  ������ )��#� I���� !�1�
590nm 

  
  
  

12� I����% ����� ����� 3�� ,$��� )����7�� I�=@( ������ ��$� ����%�� ���� ���-��� (
 (,�-��� ���;� L�G ��%;� 3�$�� 3�) �
;0�� ?@	���� 8%�0� �6%�	�� �& �	���� ����50 !� 

,�����.(  

C I����% ���� )
�� ����� 2000°C) ���� ( �240000°C ) ��� 37�# ( ��B� ��� �	
 �� !������ !�^� ��#���� ����%�� F%� �� !����� �� (�*���� !����� ���7 F�4��'G
 �	��B� ���� F�4��'M� �B� 3��� 3��� 3����� �	��� =� (���"$� ��#���� ��#����� ,��

�';� �
�� V�7 K��1��� .  

13� V�B���� K�1 ����BM� K�1� ��*������� �B���� ���� .  
C 1�17�� ���BG K�1 �� F�4��'M� ���� !�1 ��#�� �	 �� F�4��'M� ���� !�1 

1�17�� V�B��� K�1 .  
  

    
  

14� !B�� K�1 !�'� ��'�� 3� ���B�� ����� K�1 ��
� )3���;� 3� �$B�� ���$7 (
�� ����# 1�17 ��$$7�� 3�� 1�17� K��� �� �	� (��'�� �����"�������" !�� ���� (

 5#%  F�4��'M� ���� ��'�� �� ��������� ��*������� �B����� V�B��� L$4
�B����� �
	 ����1 .) �6%�	�� ���� "@���� �$���% ���� ���	�����" �
;0�� ?49,����� !� .(  

�	 ��'�� ��� K�1 3�� I��� I$��� �� !B�� ���BG K�1 V�B��� 1�17 I� 3�� 
,�?� K��1�� �G ������� F��	�'��� �� ���� ��
� � �? ����.  

  
  

�
%=� : �%�B (����#�� ���"��� �� ������� !�'�� I#�� �	 K�1�� !�'495����� 3� .  

15�   

 3������ I�4 ���� �	� (�*���� !����� �� ��'^� ���7��� !�$%� V�B��� ����� !"�� 
���*� ��#��� (�V�B���� K�1  . 3��� L�%���� 3�� 3����� 3�)������� ��B� ( ���%�

��$��� 5#��� 
7<� �B����� F�4��'M� 3� 1��'��  .3�1��' ����� 3���� ��	���%� 3�����:  
]400nm-450nm [ �]650nm-680nm.[  
C  ��%���� ��? L�G �
�� )V�B��� ��#� L$42(3������� ���� ( :λ1=430nm ;  

λ2=660nm.  

400 500 600 700 

λnm

� 

� 



C (�	-������ A�#� ���� )2 (�B����� ��@ ����$�� F�4��'M� L$4 K?��� !�$%��� 3�� 3G  
 3���$�� I�� V���� ���;� ����� )2 (3���;� 3� L��� �� 5���� �	 3�$�� 3����

)3�1��'�� (���72 3�$%��� 3�� ��
�� (,�-;�� ��%;� 3�B�����.  
�
%=� :$%��� F����� ����1 5#% =�$? K$�7� !B�%�� 3�$�� 3��� 32 3��� �-����� !�

)K$�7� ��72 3�� (��*���� F�4��'_� IB�B��� ������ ����� L�G ���� �
	� . �
	 A�#�
������� 3���<� ���� ���� !���%��� K$�7� 3�� -������ ����1�� P*�����.  

16�   
�� F���/���� !�$%� 3� 
��� ���� F�4��'M� !"�� 3����� ����� �-���� ����4 ���#����

����# 1*��' !�' L$4 ��
� �B����� ��';� ����� (V�B���� K�1 �� ��
�� (���;�.  
 ��
����� �
	 ����� !"�� ���*� ��#�� 3����� �� ���4 ���� �
����� 3���;��) ��4

V�B����(5������� �
����� 3���;� 1*��' ��%� I��� (:  ]630nm-780nm[ ; ]410nm-

440nm [��%;� 1��'$� 3��������C,�-;� � ��������� C F�4��'G �	 L��� ��� (��#����� 
�B���.  

C I���� !�1 )
�� &��'M� 32 
%=� (V�B���� K�1 � 3����� 3�  λ=420nm�	  �"�;�
 ��
���)!�$%��� ���� ( ����% ��#�� �80%I����G ��' ���2 !"�� ���� (.  

C�	 !�$%��� 3��  F�4��'M� 5���� )3���;� ( ��
�� (����#� 3�1�'�� )2 (I�� �
�����
)��� 3�$�.  

  
��*������� �B����� ��� ���BM� K��1<� V�7 ,%$�CP����� 3� ��7�#�  Spectres 

  

 



  
�����  �#��   �*���� !����� �� ���BM� K�1]4000Å-7000Å[  
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 ?	$   = 7�
���
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 =���%
 /�! @��%
 "	 ����� ��6��  .=J���, ���8	� . 

2. 0
$ �� A�83� >�� :� (0
$ =>  ( A�83=  T� (0
$  

3. ��$
 A�83�
:   

� (������� ����	 C�
 ?�8��
.=  > (?��� �2�	8 ���8	 .=T�  ( ����
)�����6�
     (        

6. <�� �� �	8%
 "���
 ��-� ���%
 "���
 /4�$
 "P, I��	�
 "$��� J���, ���8	 F	 ���
 �3	 H�	� 

�����6�
 ���� /�* . �9�8 "* �3�� �� ��
� 
�! ���
 &, ���8 ���#	 ����� �����6�
 ��� ����

D����
 �
�� 5$��
 >�3�.  

Glucoserie�����
 &, �����6�
 ����  Glycémie ���
 &, �����6�
 ����. 

 
 

 ������1 :���	�
���� ���
�� ��� ����� ��
�   

���� � ���
�� 
��
���  



��������+	
 1&# %  

��;
�4�
 �	�� : 

 ��������= ����	 = ��������! =�����  = ����#	 =����#�	  .  
 ����#	= ���������
 = ����	 = ��������N
 =���������
  .  

 ��������N
= ���� = �
���
 ���� = ���������
 =���������
  .  

2.�8�83�
 �����N
 �� >
���
 ��$
 :  

     1 .� .-1.6 x 10
-19

 C         2 .� .1.6 x 10
-19

 C     3 .��  .���
� "������
"���  
3.&9 "������
 ����  :� ."�����N
 ���� "	 ��K�� ����  .=  T� . >����10

-27
kg   

4. ���$
 >
���
 �8�83�
 ����%
 �� :  

1 .T� &���	���
 �3�#�
 ��	��:      T� . D���
 1	��.  

2 . ?4� �8
��
 �3�#�
 �
�� ���:     T� .���������
 .  

3 .
 &���	���
 �3�#�
 ���-� �	8���* ?4� �8
��:        T� .���������
 .  

4.� ( ��* ����������
= >  ( D���2�
 "	 ?��=H    ( ��* &, 7C�$
� ���������
 ��* &, �,
��

����������
 .=� (18

40
Ar  �"�;�%
10

20
Ne   �"����
2

4
He �������
.   9( �3��#�
 ��	�� 

��	���� ��K		�
 �����	���
 :���4�
F"�����%
 �O������
 �S���V
 �N�����3�
 �Na�84�
 � C.  

�(  �����	���
 �3��#�
 ��	�� ��	� :����	�%
Al������
 �S�����
 �Cl���K���
 �Li�������
 �He  
��43�4�
�P.  T9( �84�
 �3�*   6

12
C  

529

34
Cu   29

35
Cu   29

36
Cu  . ��� ��� ?�8��
 �3�* 29?�8��
 �3�* ���-� &9� "�����! .  

7 . u 16.00  

8 .���R	�
 �����
 �����10B &9: x=19%  ���� ���R	�
 �����
�11B &9: y=81%   

14 .10
18×25���    

15 .g  10
22×1.0675 

 .20W�����
 &, �������% &���C�
 D���%
 >�����
 &, �84�
 ��� ��������
 ��� ����.  

  



���	
��� ��� ��   

� (��3��&� �� ��4+� .  

1 .'���5	
 6�#��7
 �� )
��	
 �+$
 ..  

 � = )  ���������
/6����+�	(
 ) ��
��  / ��������� (=) '#��� /����� ()6�03 / ���� (=) 6�����(
 /

���������
) (���,/6#��  (=) 9
�� / ��������+
 �
�
�	�
.(  

 >– 
�
�	 �,
�� �����
 "	 �
� ��   

=�
�	 F��� �	�� �$Q /�! �
� "	 ����� .  

=�����
 &, ���$�
 ?4� /�! �	 �3�* ���-� &	���     .  
&, ��������+
 '���� T�>�8 ����
  :�
�
�	�
.  

�  . ��� �
�	�
 F���n=2 T�  :8��������
 .  

T9.�����
 "	 ��%
 ��	#�
 �3��*  :  

T9.> (=�8
� "�����! ��$%
 �9�
�	 &,     .T9.H(=�������� ������ &
#�      .  
T9.�( =����#	 ��3�$ ��� .  

�    ..�.> (= ��$%
 �
�	�
 &, ���
��� 7��������
   .�.T� (=������ ������� &
#�  .  

�     .� (= �����$�
 ��������+
 �����
 ?4� ������
 �
��6��    .> (= ?4� /�! ������
 �
��6�
 &	��� 
����#�
    .� (=7�#2 &��	�� 
��� ������
 �
��6�� .  

T8 (=?����
 ��	#�
 &, ���V
 �
���
 F��  :X8

16     X8

17

     

X8

16     


 (= ����  ������
(S) 16&�V�� �*��	 �������! :
  .> (= M
6$ L

8
 $ K

2     

����5� '���$	
 6��
�+;(
 ��� ��&+:  

 �=D�*�3��
 D���
 �9��* �,� �3��#�
 >����   .>= �
��
 F���� �	��* �$Q /�! �
� "	 ����� 

)��%
 (�����
.  



3 .( �� �&�# )�
:    

• 
�, ��$%
 �
�	�
 &,.  

• ) 1"�����! (   
•  �9 &��K�
 �
��
 �3��* R,���2. 

�3��&� �� ����.  

5 .&�V�� ��� ��������
 F���� "!L
8
M

5  K
2�   (5    .> (D���
 ��#�
15.T�   (��43�4�
15

30
P .  

6. � –����
 �
�
�	 &, ��������+
 '����        . >=Y��%
 �
�	��� F�����
 ����   

8 . ����5����+
 �����8� &, ��������
 ����.  

 � (K
2
  L

3    .> ( �
�	�
 &, ��������+
 ��*����� 3 .T� ( ���
#� "
 F���	�
 ������
 B
3+  

9 . &�V
 F�����
 ����K
2
L

8
M

3    

�(�����8� ��������
 ��*  13 .Z)����
 ���(13    .> (���$%
 ���
�
 ��������
 ��*3  .  

T� ( �
�
�	�
 &, �������� &������+
 F�����
M
0
 �L

8
 � K

2  �9 �3�#�
 : 13

27
Al  

10 . ��� <��!Na  &��
11 = Z   

� ( �
�
�	�
 &, ��������+
 F����M
1
 �L

8
 �K

2
    .>  (11e  

T� ( �������� ���$%
 ���
�
 &, ��������+
 ��*1e�� Na
+
:  

11  .� ( �
�
�	�
 &, ��������+
 F�����L
7
 �K

2
    .>  (9e

-  

T�       ( ��������+
 ��* �������� ���$%
 ���
�
 &,7e
-���  F

-
 :  

12 .NaF  

13 .2

4
He       Z=2   A=4 �����α  

      T� (+ 6,4.10
-19

C  .� (  - 6,4.10
-19

C�	���
 S�8 "	 "�������	.  

14 .  ����
 �� �
�	�
 ���	8� "� "�	� &��
  ��������+
 ��*n   . T� (X =2n
2.   

15 .� (����	�
 ��������+
 &	�����$%
 �
�	�� ����
 &, &���	���
 
����
 "* �   .>(A=Z+N .  

T� (�������� ����#	 �����, �#�  

16  .����
 &, ���������
 ��* ���������
 ��* D���� "� D���2�
 "	 ?�� .  

18 .�����	�� �3��* �
��� &������+
 F�����
 /
#�: K2
 L

6
 �  K

2
 L

8
  � K

2
 L

4� K2
 L

8
 M

2    

3��#�
 L�9 &9 � :������6	�
 ��84�
 �"����
 �"�����%
.  

19 .��
�� ��� /�* ?�#�
 &, ���8�
 ����.  
20  .�����
 ��
�� ��� /�* �����
 �3�* ����.  

21 .&����
 &������N
 F�����
 ��� &��
 �
���
 :� (K
2
  L

8
 M

2>   (K
2
 L

6
    T�( K

2
 L

4  

&9 :�84�
 �"�����%
 �������6	�
.  
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 �� �
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 F�����
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2
 L

4
) � Mg

2+
(Z=12   K

2
  L

8
)�Cl

-
(Z=17   K

2
  L

8
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8  
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2
  L
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8
) �Si(Z=14    K

2
  L

8
   M

4
)  

24 .�3�#�
 X17

35  :�< Cl (Z=17   K
2
  L

8
 M

7  
) ��	#�
7 �
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 3 LR,��� 1"�����9   

25. <��� �3�#�
 Y11

23
 : L

8
 M

1 K
2�
��
 3 ��	#�
 1 LR,��� 1�����3�
 �9�   

26.  �3�#�
 �8�� "� "�	� X17

35 �3�#�
 F	  Y11

23

  

&
#�NaCl .  

27. = �(  (L
2
 K

2
) 4Be    

28.= ����	 ����� 2+X  &������+
 ��#���� K
2
 L

8  ��#���� ������6	�
 �3�#� ������
 L�9 &	���      : 

K
2
  L

8
 M

2 ��	#�
 &, ����2 �
��
 "	 3.  

29.= ����� ����� �Y  ������+
 ��#����&&�V��   K
2
 L

8��#���� ���4�
 �3�#� &	���  :K
2
 L

7  

 �
��
 D����
 �����
 &, ��#��	2 ��	#�
 7.  
31.= �3�* Na �3�*� K��	�
 "	 ���� �	�� �	��	 ��� + ��2�%
 �����
 A
�� �����%
 ���   ���%

�	�� ��
�� ��� /�* "���� ��%
 ��	#�
 "	.  

32. �  =�3�#�
 A &, ���K���
 �9 D����
 �����
 "	 &��K�
 �
��
� ��%
 ��	#�
 F
��� &, ���� D��
 
L�
�	 ��$%
 1"����� 1������ "�����! Li

+1.  

  

  
  

  

  

  
  

  

  
  

  

  
  



���	
��� ��� �� 

� ('��	�
 �
 ��-��.  

1=���V
 �	��
 &, ��;
�4�
 �	��  :  
=  ���,����
 = "�������!  = ���$%
 = ��� =&
�
�� &������! H��  .  

= ��������! H
��� =��	�$  .  

&, ���������
� ����
�  ���K���
� "��������
 �����
 =��������N
 �����K�
 .  
 E�$%
= �
��8N = ��������N
 ����	K�
 = ��$%
 �9�
�	 &, = �3�* .  

 2 –A�83�
 ��$
  :  

1  (�D�� "���� &, �$
��
 �
���
 ��* /	�� . �–�D���
 ���� .  
2  ("�� ���,����
 �
�
��
 I��� : T�="�������! .  

3  (�6�� ��$%
 �
�	�
 &, ������	�$�
 �
� :�= 8��������!  . �– 4�	�$ ��������! H
���  

4  ("�����%
 ���� ��$%
 �
�	�
 &, ���� : �– 6��������!  .  

 T�="C	�$ "����� "����* "�������!   . T9= LR,��� 2.  
5 ( �– �����9 ���� ������
 �D��� ) ��	�9 /1��%
 ��*���(  

 T�= �����9 ���� ��	�
 �D��� ) �����	 / /���,�	(  

6 (?4� �	�� "�� 
�! >��	� "������ "���): ��	�	�
 �6�3�
–.(  
7 ( �–D���	 ����
 &KCK �D���
 "���      . T�=A�83 ��* �D�� D� ����  .  

 T�=��������N
 �����K�
 � ��������! ����	K�
 ��*�� �D���
 �$
� �
���
 ���8�  .  

8 ( T�=
 ���* �D���
 "���  &���	�� '
��%
 �� &, �
���  .  

/ ('��	�
 01��.  

4 =�D���� ��	�	�
 �6�3�
  :C4H6Cl4     �� C(CH2Cl)3Cl        

8=��34	�
 1�� �6�3�
  ���V
:.CH3CH2CHO���		 ���� ��$Q .  

9 – ��8� ��� ���V
 ����   Z=7 ��8� ��� "��������
 �����Z=1 . ������
NH3 . H
��%
 ��*

���
��
�3��
�
���
 ��;� 1�D���
 
�9 &, .  

11 –&9 &��KN
 ��8��
 �D��� ��	�	�
 �6�3�
 "! CH4O :  

 T�=1� 
�
���
 ��* 5 . T�= �  ���,�	 1���� –���,�	 
�
�� 1� ����   . T9=>
���	 �D�� �9  .  
14 –"�����
� �84�
 ����� &���K �D��� ?��� ��K	� <��! )>� �:(  

 ����	K�
 ��*���	��	 �� &, ���8	 .� �9 C�K	� A3� (> �	� ("�����%
 &��� R,��� ���8� + 1�P,.  

  

  
 �(  

O O C �(  
C OO 

 ������2���������� ��	
�� �
� ����� ���
�  



������	
��� ��� �:  

1 � ��	� =����;�,� ��* = ��* ����;�,�= 1��	 =.������  

2 � = 4�$ �� >��5   

 �= )-2#( > = )-2#( T� =) A�83 ( �–)A�83(  

�3��&� ����    

3 �   &9 ���8�
 ����1.6g   

4 � ��8�     1mol��������! "	 :q = - 96320 C ����� � 1mol :Me = 5,48.10
-7

 kg  

 �=      6,02.1023 > – 2,88.10
3
 C  +  

6 = � ��-� 7����
���  
7 =&9 �����
 �3�#� �����
 ����	�
 �����
 :35.5�
�;.  

11 � � = �6��  2g  "�
���
 &, "��������
 &���K ��; "	)P,θ (25 L.  1�6�� D��
 ��8�
 ?4�     

32g"����%
 &���K "	 .    > = 25 L��
	1
 �+�� 2�����   

13 – ���	�
 ��	�  2,0.10-3mol   

15 – ���	�
 ��	� 0,422 mol   

16 �  

��6�
  H2 O2  CH4 CO2  Cl2  CO  NH3  

H2O ����  

����	�
 �����
M  2  32  16  44  71  28  17  18  

�,�K��
  0,07  1,1  0,55  1,52  2,45  0,97  0,59  0,62  

���
 &, F2��
  ����  	
��

 ��  ����  ����  ����  	
��

 ��  ����  ����  

  

 ������3: ������� ��� 	
��
�� �
                         



��-��'��	�
 �
 :  

1– �����	�
 ��	����� ��;
�4�
 ��	� �	��  :  

���8	=�D��  .= * ������=��
��=* mol/L = L1 =*��	�
 �����=���   

2–>
�3 �� 0
$   :����= ���� = ���� =0
$  = ����  

'��	�
 01��:  

4 – m = 0,635g     L��� ��8 &, �����
 L�9 ��
�!250 mL  

5 – C=0,097mol.L
-1 

6 –C
 

=0,6 mol.L
-1

  
  

7 –   C =0,014mol.L
-1  

8 – C =0,057mol.L
-1  

9 � ������
 ����, 1	�8 5���, ��	�
 �$���� ����
 ��, W��
�
 <���.  

10–    � = 0,028mol    >=  C =0,056mol.L
-1  

11– � – m=1840g       >– m’=1840g     H–C=14,44 mol.L
-1    → C=10.p.d/M 

13–     �–m=0,032g  , n=0,002mol          >–   v=0,05L  

14– � – V=0,175L     >– V1=0,125L  

15–  � – C1 =0,106mol.L
-1      >  =   C2=1,242 mol.L

-1   

16– � –  nNa+=8,64.10
5
mol      >–  C’ =0,048mol.L

-1  

17 – � –  >  ���	� –   F = 4   

18– � – F = 100      >–  V’=0,001L  

21 – C =1,77mol.L
-1       

  

  

  

  

  

  

������	
��� ��� �  



�� ��� ������	
� �  

�EE3��&� �� ��4EE+�:   

 1 =&���	�� ��8� = I�
���
 –  �C*�4�	�
 =����	� =  →  �   �*�4��
 ����#	   

=  ���������
 ��8��
 =���	�
 ��	�   
 4�$ �� >��5: � – >   A�83 –

 

T�   0
$=A�83   

  �3��&� ���� :  

2 � ���V
 ����#	�
 �,� ������
 F	 ����	�%
 �*�4��  :  
2 Al(s) + 3 S(s)       →       Al2 S 3 (s)         

 == 9,6g  mS mAl2S3=14,6g - 

5 �H =�\�8��
 
�9  &�����, ��8� �� �����	�� +\�8� ?�� .  

6 � CH4 +O2 →C +2H2O  ,    2H2O2→ 2H2O +O2  ,  CaCO3 →CaO +CO2 

Zn(s) + 2H
+
(aq) + 2Cl

-
(aq) → Zn

2+
(aq) + 2Cl

-
(aq) + H2(g) 

7�  ����K�N
C2H6O�84�
 ����� &���K &���	���
 '���
 D��8� + .  

 ����K�N
C2H6O��	�
 &���	���
 '���
 D��8� + .  
C2H6O(l) + 3O2(g) → 2CO2(g) + 3H2O(l)     

���	���
 '���
?���
 ��
� ��#� �84�
 ����� &���K & . "�� ���� ��	�
 &���	���
 '���
CuSO4 

9 � � = �
��$     > =  2CuO +C → CO2 + 2Cu   &���	�� ��8�  

 H = Y 1��$�� ��� ���$	�
 &, �43�
 L��� ����� �� "������
 ����� &���K ��;� ?�8��
 "�#	   
� =   "?�8��
 ����� &, ?�8��
 ���� "�8 /�* �9     .  

12 �    I�
���
(g) 2Fe2O3(s)+ 3C(s) → 4Fe(s) + 3CO2�C*�4�	�
     

A ����	�������
 
����
 &, ?�� 
��$�
      = &�
�8 ���8�
 ���� m=135kg  

15 � C2H6O(l) + 3O2(g) → 2CO2(g) + 3H2O(l) 

VO2=171,2L      VCO2 =114,1L    mH2O =123,26g 

  

 ������4                       :
 ���	
	� �
���� �	
��� �����
��  



���	
��� ��� ����  

•  �3��&� �� ��4+�:  

1– �	��#	 – ��	-*� =  �*�4��
 ��� =  ��#��     

2 �     A�83= 0
$  – A�83 =A�83    

•  �3��&� ����:  

4 = nNaHCO3 = 0,0096mol    nCH3COOH = C.V = 0,027mol    
�9 �8	�
 �*�4�	�
 NaHCO3

 

&�����
 �����
� x = 0,0096mol  
 ��	� �9� �84�
 ����� &���K� ���	�

 I����
������ ���� CO2 	
����:  

   mCO2  = 20,810 - 20,406 = 0,404g → nCO2 = 0 ,404/44 = 0,0092mol 

5 –� (2Na(s) + Cl2(g) → 2NaCl(s)     ) (n = 0,05mol F   (   x =0,05mol  

6 = 4Fe(s) + 3O2(g) → 2Fe2O3(s) ,   nFe = 0,4mol   ,nO2 = 0,3mol         

8�  
3H2(g)

          +   

 N2(g)      →       2 NH3(g) ����"���  

0  9mol mol4 ������-� �������  

2x=2⇒x=1 9-x=8  4-3x=1  ����&��-� ������  

2xf  9-xf  4-3xf  ����'��� ������  

xf  = xm = 1,33 mol"��������
 &���K �9 �8	�
 �*�4�	�
 .  

9�  Cu(s) + 2Ag+(aq)    
→    Cu+2 (aq)   + 2Ag (s)    

nAg+ = C.V = 0,02.0,15 = 0,0030 mol    nCu = 0,127/63,5 = 0,0020 mol 

  

  

  

  

  

  
 
 
 
 
 
 
 
 
 

Cu(s)+     

 2Ag
+
(aq)

     

→          Cu
+2

 (aq) +2Ag (s) ����"���  
0  0  0,0030 0,0020 �������-� ������  
2x  x  0,0030-2x  0,0020-x  ����&��-� ������  

2xf  xf  0,0030-2xf  0,0020-xf  ����'��� ������  
0,0030 mol 0,0015 

mol 
0 0,0005mol ����'��� ������  



X(mol) 

0,001 

Cu(mol) 
Ag

+
(mol) 

0,0030 

0,002 

nCu= f(x) 

nAg+= 

0,001 

0,002 

Xf = 0,0015 mol                   CCu2+ = 0,075 mol/L                 

10�  NH3(g) +   H+(aq)+NO-
3  (aq)     →    NH4

+ (aq) + NO-
3 (aq)   

24L            63g                                         80g                                   
m              V                                           107g                             

mHNO3 = 1500 g  
V = 3000m3     m HNO3 = 7875 kg  

  

13 –
    

           

 N2(g) +  3H2(g)  →    2 NH3(g) 

�#	 "�	�#�� "��*�4�	�
 C� "% �8	 �*�4�	 ���� +.  
   

   

   
  
 

nNH3 = f 

X(mol) 0,2 

n(H2) 
)

n(H2)mol 

n(N2)mol 

n(N2

0.3 

0 

0.2 

0.1 



  

��� ��� ���	
��
�: 

�������1:  
  ����� ����  ����� ��	 ����  


����� �
����
 ������� ���� �����  C A, B, D  

�� ����� ����������� ���  A, B  C, D 

������� ����� ���� �����  D  A, B, C  

�������2:  

�������3:  
 �� ���� ������	
�� ��
���� ��� ������ ����� ��� 
���� � �
���� ������ ����� ��
���� �� ���� �
�!��

��
�� .  

 �������6:- )
 7��4� @�
 >" . 

  

  

  

  

�������8 :v = d/∆t =10.24 m/s =36.86 km/h      

�������9 :   

�� ��������� R��� �� �!����� �0�� 20.26 km/h  ���� 20.26 m/s @����� �� ��� ���� 2�� :   

 ∆t = 7495 s     ,   v = 20.26 km/h = 5.63 m/s    

    �� �������� �������: d=v.∆t = 5.63x7495 = 42195 m   

   ������ !"�#��� $%�� ��&��   :∆t=d/v=42195/1.66=25419s      

�������10 :  

1� ��C��� ������� ������� )����� ������ �
 ���� ��C��� ������ �%& ������� ��������� �������.  

2� ����"�� ��,>� � M�/� @%� ��5 ��,>� ��� ����� . 

3�  ��5 �/ 
!-� ( ����� �
 ���� ���"��� 
	�� .�0 	���0D�� )�!��� �*!�� )	�� �������.( 

4� 0 �"���� 1����� 	�B"�� M�/� ��,>� ���� ����� 
!-� . 

5� ���"��� 
	�� .�0 	���0D�� ��% � ��C��� ������� ���� �*����� ���� 
!-� ����� �
 ���. 

'����  (���)��� ������   (������� *��������  
 �+����� *��������

 �,���  
������ ��� 	
�  	
��
 ��
�  	
��
 �

�� ��
�  	
��
 
���  

��
� ���� �� 	
��� ����  �����
 ��
�  �����
  �

�� ����� ��
��  ���	
����
 
  
������  ������ ������ ���� �����  �����
 ����� ���!   ���!�
 "�# $�� �����
 ��
�  ����� � �����
 
���  

(�" $- /0)� 1 '��  2  3  
��
�4 ����
 !���� �� 5����� !�6� 7���� �� ��� �%8  X   

2"���� !���� �6� ���� �� ��� �%8    X  

!��� 9���� �� ;���� �< ���� !�6� ���� �� ��� �%8.    X  

����� =�
� !�6� ���� �� ��� �%8.  X  

  

������1:                   ������ �	
���	�� 
������  

������
�� 
��
  



v(m/s) 

0 0.04 0.08 0.12 0.16 0.20 0.24 

1 

2 

3 

t(s) 

������ ���	 

�������11 :  

�������� ������� ; Y @��#4�� 
��
�4 ������ ���� ��>����� ��������� ������ �� X  

 

���� ��������� ������ �� �� /��� ���� *������� ?����� ��>�
������� ����& *�5��. 

X  
 

����� ��� �	
�� �

�� ��� ���� ���
���� ���	
���� ������ ��       . X ��� /0)� 1(�" $- '� 

(���&�� (���� ���� '�>���
 (��#���� ��������� ������ ��.  X ��
�4 (���� ���� 

 ��
�4 ������ ���� *
�4 ������ ��#� @��A ��� �%8 
 

X  �< (���&�� ������ ����
'�>���
 �+"���� 

 ���� ����
���� ��������� ������ ��v   �∆vB���1� ��� �� . X v  �∆v��������  

�������13:  

1�  ��������� ��"����� ��% �� 	�>�� )����� ������� ���� �/ ��C��� ������� )���� ����
����, �0�� �
 ������� ���������.  

2� ������� �0��  �� :/2τ   v=d/∆t=M0M2    

  ������� ?���  M0M2 ����� ��	�� ���,��� .�01.5 cm 4�� �������� )�� �������� T  .�0 �
 �
 �������� �������1.5x10 = 15cm = 0.15m    M0M2 =������� �0�� ���� 2���:  

 v = 0.15/2x0.04 = 1,9m/s  

3� �0���� ��H
 ��,��  

 ��C��� ������� ������ �
 ���
=,� ������ ��0���� )�� ����-�� T�C�� �� �� ����, �0�� �������� :   1cm→1m/s �,��  

 ���!���� ��M1�  M3 2��" )*�� �0���� �0��H 1.9cm    

4�  �0���� ��J� S��H �%& ������� �0���� ��H
 �
 ���:  
 ∆v2 = v3 –v1 = 0�  �C�� �� �� )�	�� ��.  

5� ��5 �/ 
!-� ( )���� T���"��� 
	�� @��. 

6�  �0���� ""-� 

  

  

  

  

�������17:  

 R��"��� ���"- ?�� S���&)���4188(�� �� 2������ �������� )�� T��� ��� )��:  

)������� ��( )  →  0.9 m���4��� =��     4.2cm (2���: )������� ��( → 0.214m )���4��� =��(1cm     

 M1 M2 M4 M0 M3 

��A��3 

v1 v3 



FT/C 

∆v 

�������18:  

B��C��� 7�� ��5   

1B ��5 ���� ����� ��C��� ��6 ������� ���� �� ��� ������ �� R�"�� ��C��� �
 ��� 
� @%� ��5 �� ����� 3%� � ������ �*� ��2� M�/.  

2B FT/CM�/� ��� �*��� ��� 2��C�� ��C��� M�/� @%� ��5 �� .  

3B  ��0��H�� FT/C     

 �*��� ?�� � ����� ?��       �  

B��C��� 7�� 	��   

4B ( ������� �
 ����� ���"��� 
	�� @��� ��C��� ������� ������ �
 ��� 
�	���� M�/� @%� ��5 �
 ��� ���� ��5 �/ 
!-� ���� ���� �%& ��F�	 

 ����, ��5f.�0/� ��� �*��� ����5�H   ��,>��� ���� E��� ��C��� .�0 �,>�
���	�� �����D�.  

 

 

  

  

  

  

  

  

  
  

FT/C 

f 

∆v 



��� ��� ���
�	���:  

�������1:  
B��� �� ��C����� ���F�	�� ���:  

B�������� ������ �� 

�������6 :  

2C ����, ������� �0�� �%& T������� ��������� ��������   

3C��C��� ���F�	 ������ .  

4C�  ��C���� �0��������� ?����  M1 

  M3 و

/��C��� ������ � . 

M0M2=1.9cm ���,��� .�0 �  ������ .�0 �4�� )���� )�� ����������������:  
=1.9 x 10=19cm=0.19m  M0M2 �� ������ �%8    :=0.19/0.2= 0.95m/s  v1=M0M2/2τ     

5� �0���� ��H
 ��,��  :)���� =,� ���-� 1cm →0.5m/s   

2��" S��H� �0���� �,��� 0.95 x1 / 0.5= 1.9cm   

���� �� �� �	
���  �
	�� 
�
.  

6 � ���
�� ���� �	�� ∆v ����� ���� 
�� ������ 

7 � ������� ���� 
�� ����� 	��� ���
�� ���� ����. 

8 � ���� �� �� ������� ���� 
�� ����
 ��� !"	# ���
�� ���� �	��.  

9 � ����� $%�
 ��	��� $%� ���
�� ���� �	��
 &
��� '�� �(")��� �
(��  

������ 
�� ���
� *+, ��� .  

10���	)� &��� �"��� �"-��� */ 0(�� ��	)��� ��"�.  

�������10 :  

7���� :��H�� �� �������� )�� O�-���8���4�� .�0 ��"�� �%����� �������� 	���/� E��   

�� �%����� M�0 :1.5 cm  ���,��� .�0  0.50m   ←������� ��  

                            1cm  ���,��� .�0←؟    

�� cm1 .�0 ���,��� ←   m.3330  :   	�� ا������ت&%� �������  

(��
���  2  3  ����+�� (��
���  
������ ����� ��>���� ������ @��A  X 

    
�
�4 ������ ���"    X  ������ ���"�������� ������ �� ?�� �� (��#��   

 ������ ��#� @��A � ��,� ������ @��A
������ ���  

  X  
 ������ ��#� @��A ������� @��A ����& ����+� 

(5��� �< ������.  


��� ��	 ������� <�
�    X  �������� '������ �� 
��� ������� <�
�.  

(��
���  2  3  ����+�� (��
���  
���"��
�4 ��>���� ������   X    

  

*
�4 ������ @��A    X  *
�4 ������ @��A � ���" =����� ��#��  
'���� ������ ��#� @��A    X  !� ������ ��#� @��A��
�4 ���"  ���(������ &��� ��� !�  

������ ����� ������ @��A  X      
(�" ��- ;������ /0)� 1    X  )�� ������ ��
�4 (��� ;������ /0�,��(������ &��� ���   

o 

v'1 

v'3 

∆v’2 

M1 

M3 
M2 

M0 

v1 

v3 

∆v2 

o 
∆v6 

∆v10 

������ 2  :�����	�� 
��
���� �����  



(&�� B��� ��� �
A)�� ����  ����� B��� ��� �
A)�� ����  

 �
	 ����
�������:  

�������4 :  

  

  

  

�������6 :  

B  �"���� ����B  :O��	�� 3��� ���  

B ���<�4��� .�0 <5�� C�=� 3���   

B �"���� D�����   ��" 
���
���	��� "O��	�� ������� �
.  

 

�������7:  

B ��6 ��������� �������� �
 ��� 
���� �%& ������� �� ����

���������H-�� 2��� ��C���  
� ���� 
!-��*� M�/� @%� ��5 ��.  

B��F�	��� �0�� ��	� "��� ��H-�� �1��� ������� )����� ���� R�� .  

B  ����
 ��F�	��� �0��� "��� ��H-�� ��"��� ������� 
 ����-���� ���� �*����� ���� R��.  

B�� R��� ���"��� 
	�� =� / T��������  ���� �
� ��C��� ������� ��-���� ������� ����� ��!��

�����"0 �������� �
 �
 M�/� 7"�� .  

�������9:  

2C.����� �����
 M�/� 7"� �� ����	�� 
��� .  

3C�!�
 ��"� 
��� �� ������ ���� �����  .  

4C ���� 15�� "����� �� �5�J����� ����1�� �	��� �%& T����1 (���  :15 x 0.04= 0.6 s t =  

5C����� <�" �� �0�"���� �������� �������   


 (E�� �������� )�� ���4�� �� O�-���) :������� �� ( 3.12m    →)���4��� =��(7cm     

������  '����  D�+�  D�+� 1 �������  
A ������� ����  X 

    
B  ������ '��+    X 

��>��� ������� ���� *���  
C  �������    X 

��>��� ������� ���� *���  
D   ������ ����  X 

    

(��
���  23  E��+��  
������� /����� �� 
��� ������� <�
�.  X    

��� ���� �����������	
 ����
 ���� �
���
 �
����
 ����� �    X������ ����� �
��� ������� ��
�4 ������ �<��
  
��
�4 ��	 !���� ����� ��#�� /�����.  X     

 �,���� B������ (����� &��� �� B<�
� ���A�� '�����
��A�� �
����
 ����� �
��� '��� �4�4 ���.  

  X � &��� �� B<�
� ���A�� '�������A� B������ 
� �
����
 ����� �
��� '��� �4�4 ��� �,��

��A��.  

3.12 m 

�����5  

τ = 

+ 

���� ��3:            �����	
��� ���
��� ��	� �������� �����  



@ (�������� ������� @��� :L=(6.2x3.12)/7=2.76m      

6C�"������ �0���� :  v=d/∆t=2.76/0.6=4.6m/s   

�������10:  

B !��� ��,��	��
 ��� 
  

B  ��5 �� � (
 ����� ?��� ���!-� �������
M�/� @%� 

B  �
 ��� � ����� ?��� ���!-� ������� �
 ���
 ������ R�� ������� ��F�	��(� �0����

 ������ ?�� ������� �%& ���	�� ���5�H��
 M�/� .�& �=4� ������� 2��� ��5�H�� R��

�C���� ?�� �� . 

�������11:  

1. �	
�� ��������� ���! �" ����
�� ��� .  

��
���� �#$ ��
��� ��	 �����	
��� ���
��� ��	� %&�:  

���������������   ;  Y  @��4��  
����"�.�0 �N	�� �����  ���    X �������� .�0 �����"� �������.  
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